| Efficiency vs Dxy |
> 0.1
<

5 S
L e S A
< A T T
@.08—----%------% ------- R St S ALY UL AR
@ A
KT O e A A S S S S S
© : : : : : : : : :
0.06 -ttt
008
004 b
003

5 R e o o s
s Tt o

OL.\@-IIII;Illl;llll;llll;l !| I;IIII;IIII;IIII;IIII

Rati

=
A e

O%bs “STIETIGE 6 B 161830 35

TP dxy (cm)

Fit_XiMinusNOPU NEWdefauIt _specPLessl
Fit”_XiMinusNOPU_NEWdefault_specPLess2
Fit_XiMinusNOPU_NEWdefault_specPLess3

MMRETe_XIMMusSNOPOUTEW-Towp
—mk
“mk
“mk
“mk

—a— D

_ —— D

| Efficiencyvs Dz | |—=—1B
—_—D

0.1 Flt X|M|nusNOPU NEWdefault“specPLess4
N U,
> :

7 SR SRS NRES PSS M —
3 : : : : :

PO
O N N H H

.07 P A AR AR
o : : : : :

L R P e
1 RO SRS S SRS P —
004
0,080+ b
002
Y0 S S T ———

OJ“L'OIIII:III!IIIIIIII!I'hI!IIII

S o LT ‘ 5
! 1T [TTHTErTT ‘ ;

930 =20 —io 010 3030
TP dz (cm)



	Contents
	Page 1


